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Recall – where is the Internet?

● Carrier hotel locations.

● Generally for interconnection 
between networks.

● Some smaller application 
hosting.

● Where do large applications 
live?



A Datacenter

Google datacenter in Belgium - https://www.google.com/about/datacenters/gallery/



Inside a (Google) Datacenter

Server racks in a Google datacenter - https://www.google.com/about/datacenters/gallery/



Infrastructure in a Google Datacenter

Cooling infrastructure in a Google datacenter  - https://www.google.com/about/datacenters/gallery/



Datacenters

● Computing infrastructure, located in one physical location.

● Owned by one organisation.
● But used by multiple users and applications.

● Our focus: modern hyperscale datacenters.
○ Google, Facebook, Microsoft, Meta…
○ Concept scales down.
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Anatomy of an Application/Cloud Provider

● Data center locations – host servers and application infrastructure.
○ Often huge power requirements.
○ Does not need to be near other networks.

● Peering locations – host network interconnection infrastructure.
○ Typically mostly routers.
○ Needs to be near other networks.

● Wide Area Network - connects the different locations together.
● Datacenter network – within a particular DC facility.



Our focuses

● What does a datacenter network look like?

● What makes a datacenter different to the wide area networks we have 
discussed thus far?

● Components of a datacenter network.

● Specific solutions for datacenter networking [next time].
○ Routing in datacenters.



Questions?



Anatomy of a Datacenter



Anatomy of a Datacenter

1-2 servers per “U” [0]

https://static.googleusercontent.com/media/research.google.com/en/us/archive/googlecluster-ieee.pdf


Anatomy of a Datacenter

~40 “U” per rack.
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Anatomy of a Datacenter
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Top-of-Rack Switch

Google “pluto” TOR - - ~2015 – Wired

https://www.wired.com/2015/06/google-reveals-secret-gear-connects-online-empire/?_sp=b8073fb0-1be8-44ae-a0bc-347189d35c1d.1708188317556&redirectURL=https%3A%2F%2Fwww.wired.com%2F2015%2F06%2Fgoogle-reveals-secret-gear-connects-online-empire%2F%3F_sp%3Db8073fb0-1be8-44ae-a0bc-347189d35c1d.1708188317556


Anatomy of a Datacenter

● 40-80 servers per rack.

● 100Gbps per server.

● Many racks per datacenter!

● How do we connect racks 
together?



Why is the datacenter different?

● We have generally been thinking about Wide Area Networks.

● These WANs interconnect to make up the Internet.

● Why might datacenter networks be different?



Why is the datacenter different?

● We have generally been thinking about Wide Area Networks.

● These WANs interconnect to make up the Internet.

● Why might datacenter networks be different?
○ Run by a single organisation
○ Exist in a single physical location
○ High scale (in that single location!)
○ More control over network and hosts (to some degree)
○ Homogeneous 
○ Performance, performance, performance!



Accessing an Application

Internet Facebook
Peering

Facebook Datacenter
R

R

R



Accessing an Application

Internet Facebook
Peering

R

R

R

R TOR Server



Accessing an Application

Internet Facebook
Peering

R

R

R

R TOR Server

TOR Server

TOR Server

TOR Server



Accessing an Application

1 popular page loaded = 521 distinct memcache loads
(95th percentile = 1740!)



Accessing an Application
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Significantly more inter-machine traffic than “user” to “machine”. 



Other Applications

● Big data analytics
○ e.g., mapreduce

● Significantly more traffic 
between machines - maybe no 
user-facing traffic.

● We’ll come back to some 
different application 
communication patterns.



Datacenter Traffic Patterns

East-West = machine-to-machine

WAN

North-South = datacenter to elsewhere

East-West traffic is several orders of magnitude larger than North-South.



East-West Traffic Volume

“Jupiter Rising: A Decade of Clos Topologies and Centralized Control in Google’s 
Datacenter Network”,  Arjun Singh et al. @ Google,  ACM SIGCOMM’15



Questions?



How do we support East-West bandwidth?

● Ideally any server can talk to any server at line rate.

● We want a network with high bisection bandwidth.



Bisection Bandwidth

● Pick the number of links we must cut in order to partition a network into two 
halves.

● Bisection bandwidth is the sum of those bandwidths.
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Bisection Bandwidth

● Pick the number of links we must cut in order to partition a network into two 
halves.

● Bisection bandwidth is the sum of those bandwidths.

● Full bisection bandwidth: Nodes in one partition can communicate 
simultaneously with nodes in the other partition at full rate.
○ Given N nodes, each with access link capacity R, bisection bandwidth = N/2 x R

● Oversubscription, informally, how far from the full bisection bandwidth we 
are.
○ Formally: ratio of worst-case achievable bandwidth to full bisection bandwidth.



Bisection Bandwidth

Bisection Bandwidth: 200G

S1 S2

Full Bisection Bandwidth: (8/2)*100G = 400G

S3 S4 D1 D2 D3 D4

Oversubscription: 200/400 = 0.5 (2x)



Questions?



Maximising Bisection Bandwidth

● As we’ve seen, bisection bandwidth is a function of the topology of the 
network.

● In the datacenter we can choose our topology relatively easily.
○ Run more cables (fibre, electrical)

● What topology do we build?



“Big Switch” Approach for DC Networking

…

Large cross-bar switch



“Big Switch” Approach for DC Networking

…

Large cross-bar switch
Number of ports

O(# of racks)
~2500 with 100K servers – large radix



Switch Radix

● Radix is used to describe the maximum degree a switch can have to other 
nodes in the network. 

● Simply can be thought of as the number of ports the switch can have.

● Switches have constrained radix:
○ Number of line cards they can support.
○ Physical constraints of building fabric cards (remember router architecture).
○ Physical size!



“Big Switch” Approach for DC Networking

…

Large cross-bar switch
Switching speed:

O(# of servers * server access speed)
100K servers @ 40Gbps = O(Petabits)!

Does not scale (and if it did, would be $$$$)



We tried to do this!

Urs Hözle (Google) on LinkedIn

https://www.linkedin.com/posts/urs-h%C3%B6lzle_todays-hyperscale-data-centers-rely-on-ultra-high-bandwidth-activity-7169073511582420994-zYyW/?utm_source=share&utm_medium=member_desktop


Avoiding a “Big Switch”

…
Reduced radix and bandwidth if we don’t care about failures



Avoiding a “Big Switch”

…
Reduced radix and bandwidth per switch - if we can use multiple paths



Building a DC network

…
This topology works (and has been used).

$$$$ $$$$ $$$$ $$$$



Building a DC network

…
This topology works (and has been used).

$$$$ $$$$ $$$$ $$$$

Can we reduce the radix and 
bandwidth of this layer?



A Tree

…



A Fat Tree

…
Still not scalable – or very expensive

High bandwidth links between 
layers - reduces port count but not 
link speed or switching capacity



A Tree

…
Problem: low bisection bandwidth → congestion



Clos Networks

● All switches have same # of 
ports.

● # of ports per switch is low.

● All link speeds are the same.

● Highly multi-path.

Using small (commodity, cheap!) elements to build large capacity-rich networks.



Clos Networks

● Not a new idea!

● Formalised by Charles Clos in 1952.

● Networks can be scaled by adding stages.



Clos Networks

● DC networks tend to be 
folded Clos.

● Input and output switches 
are the same.
○ Network links are 

bidirectional



Clos Networks

● DC networks tend to be 
multi-stage.

● Allows scaling beyond the 
radix of the commodity 
switch platforms being used.



Clos Networks

● DC networks tend to be 
multi-stage.

● Allows scaling beyond the 
radix of the commodity 
switch platforms being used.



Clos Networks - Bisection Bandwidth



Clos Networks - Bisection Bandwidth



Clos Networks - Bisection Bandwidth

16*100G links failed to partition = 1600Gbps bisection bandwidth



Clos Networks - Bisection Bandwidth

Full bisection bandwidth = (4*80)/2 * 100G = 1600G  



Mixing Link Speeds

● Need not have all the links be 
exactly the same capacity.

● Server uplinks/access links can 
be lower bandwidth than 
switch to switch links.

● Easy to accomplish where 
switch chips allow “breaking 
out” of individual ports.

● e.g., 200G server uplink, 400G 
switch-to-switch



Evolution of Clos Networks for DC

ACM SIGCOMM 2008



Evolution of Clos Networks for DC

ACM SIGCOMM 2008



Evolution of Clos Networks for DC

ACM SIGCOMM 2015



Design Variants are Common



Questions?



Components of a Datacenter Network

Server Server

End hosts are servers within the datacenter.



Components of a Datacenter Network

Server Server

Historical Google servers within a rack.
Image: Wikipedia

https://commons.wikimedia.org/wiki/File:Google%27s_First_Production_Server_%281999%29_detail_-_Computer_History_Museum_%282007-11-10_23.05.45_by_Carlo_Nardone%29.jpg


Components of a Datacenter Network

Server ServerNIC NIC

NIC = Network Interface Card.

1…N cards per host 
server to provide 

bandwidth.

Provides Ethernet 
ports (L1+L2) 
functionality.



Components of a Datacenter Network

Server ServerNIC NIC

NIC = Network Interface Card.

1…N cards per host 
server to provide 

bandwidth.

Provides Ethernet 
ports (L1+L2) 
functionality.

Image by Dmitry Nosachev - Own work, CC BY-SA 4.0, 
https://commons.wikimedia.org/w/index.php?curid=52477193 

https://commons.wikimedia.org/w/index.php?curid=52477193


Components of a Datacenter Network

Server ServerNIC NICTOR TORSpine(s)
Spine(s)

Spine(s)
Spine(s)

● Packets flow across multiple layers of switches according to the topology selected.

● All components (including servers, typically) are in the control of one organisation.



Thinking about optimisation

● We identified ways that the network topology can be designed to support 
the applications that are deployed within a datacenter.

● What other components of the end-to-end system could we think about 
optimising?

● Next time – can we think about optimising routing.
○ e.g.., how to choose paths to carry traffic according to performance requirements?

● Other questions:
○ How should hosts be designed to support datacenter applications?
○ How might congestion control be adapted to take advantage of datacenter characteristics?



Summary

● Datacenters are single organisation, multi-application environments.

● A key criteria is high any-to-any bandwidth.
○ We characterise this as bisection bandwidth.

● The topology of the datacenter must be designed to both be scalable, and 
cost efficient.



Next Time

● What else is different in datacenters?
○ Particularly, how does routing work in these topologies?

● How do we address the multi-tenant nature of a DC?


